Winter Weather
Home Pack

Primary 6
Mrs. Willilamson,




/ Literacy \

Try to think of as many ‘snow’
related words that you can and
record these in your homework jotter.
Then try to write a perfect paragraph
incorporating these words. Remember
to meet the core language targets.

Write an imaginative story about a
snow day. Remember to include lots
of description, adjectives and kReep

your reader interested.

/Cross Cu,rrlcu,lar\

¥

Research a country of your
choosing and make a poster
with some of the interesting
facts that you have found.

\_

Red and Green Group - Revise the 2-9
times table verbally

Complete complements to 100
worksheet

Blue Group - Revise the 2-5 times
table verbally

Complete complements to 10, 20, 30
and 50 worksheet

\ /
/ Just for Fun! \

Build a snowman and either
take a picture or draw a
picture to show your peers your
design. Remember to wrap up
warm and be creative!

/

Turn to the next page if
you, need, lined or
squared paper to

complete your tasks!
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1))+ 0= 10
2)()+ 7= 10
3 )+ 2= 10
9 )+ 3= 10
5( )+ 1= 10

6)(_J+ 8= 10
7 )+10= 10
8)( )+ 4= 10
9 )+ 5= 10
10)( )+ 6= 10

1))+ 9= 10

12) 0
13) 17
14) 11
15) 16

16) 13
17) 15
18) 8
19) 6
20) 5

21) 14
22) 1
23) 9
24) 7
25) 18

26) 3
27) 10
28) 2
29) 12
30) 4

+D= 20

{ )= 20
+D= 20
+C]= 20
+C]= 20
+D= 20

+D= 20
+D= 20
+D= 20
+D= 20
{J= 20

{J= 20
+D= 20
+[:]= 20
+D= 20
+D= 20

31) 19 +D=
32) 20 +D=
33) [ )+ 12=
34)D+ 1=
35)D+ 28 =

36)D+ 26 =
([ )+ 17=
38)D+ 20 =
39) [ )+ 18=
40)( )+ 13=

41)D+ 24 =
42) )+ 27-=
43)D+ 2=
M)D+ 16 =
45)D+ 1=

46) )+ 23=
47)D+ 14=
48)D+ 7=
49)[ )+ 3=
50) )+ 10=

51)D+ 6=
52)D+ 21 =
53)[ )+ 5=
54)D+ 30=
55)D+ 19=

56) ]+ 25=
57) )+ 0=
58)[:]+ 22 =
59)D+ 15=
60)D+ 4=

O Complements to 10, 20, 30 and 50 []

20
20
30
30

61)C]+ 8=
62)( ]+ 29=
63)( ]+ 9=
64) 15 +( )=
65) 32 +D=

66) 23 +( )=
67) 7 +( )=
68) 31 +D=
69) 4 +D=
70) 22 +D=

M) 6+ )=
72) 38 [ J=
73) 42 +D=
74) 20 +( )=
75) 29 + )=

76) 25 +(_ )=
77) 34 +D=
78) 48 +D=
79) 40 +B=
80) 24 +D=

81) 13 +D=
82) 50 +D:
83) 39 4+ J=
84) 49 4+ J-
85) 27 +D=

86) 36 +D=
87) 17 +C]=
88) 5 +C]=
89) 41 +D=
90) 47 +D:

30

30

50
50

50
50

50
50
50

50
50
50
50
50

50
50
50
50
50

50
50
50
50
50

50
50
50
50
50




1) ()+9 =100
2) 77 +(_) =100
3)( )+ 41 =100
4) () +99 =100

5)(_)+68 =100

6) )+ 47 =100

7 (J+ 70 =100
8) 71 +(_]) =100
9) ((]+ 44 =100

10) () + 24 =100

11) 54 +(_ ) =100
12) () + 84 =100
13) () + 10 =100
14) () + 57 =100
15) 7 +(_) =100

16) () + 29 =100
17) () + 26 =100
18) 90 +(_] =100
19) 11 <[] =100
20) 62 +(_ ) =100

2) 2 +(_]) =100
22)( ]+ 5 =100
23) (] + 20 =100
24) 82 +(_ ) =100
25) () + 79 =100

26) 78 +(__) = 100
271 () + 73 =100
28) 34 +[_) =100
29) 55 <) = 100
30) () + 59 =100

O Complements to 100 D

31) () + 87 =100
32) 92 +(_) =100
33) () + 14 =100
34) 69 +(_) =100
35) () + 65 =100

100
100

36) )+ 36
37)67+D
38) () + 18 =100
39) () + 51 =100
40) 58 +(_) =100

a)(J+ a7
42 31 +()
43)O+23
) [ )+ 9
45)D+ 6

100
100
100
100
100

46) () + 32 =100
a7 13 +(_) =100
48) 8+[:]=100
49) () +75 =100
50) 49 +(_) =100

51) (] + 94 =100
52 () + 46 = 100
53) 48 +(_) =100
54) 38 +(_) =100
55) 60 +(_) =100

100

56) 15 +( )
577 () + 93 =100
58) () + 64 = 100
59) 25 +(_) =100
60) () + 43 =100

61) 52 +( ] =100
62) (] + 45 = 100
63) 80 +(_J =100

64) 95 +( ] =100
65) (] + 28 = 100
66) () + 42 = 100
67) (] + 85 = 100
68) () + 56 = 100
69) 16 +( ] =100

70) 88 +( ] =100

71) 40 +( )= 100
72) 72 +(_) =100
73) 3 +(_J=100
74) 66 +(__] = 100
75) () + 30 = 100

76) ]+ 9 =100
77) 89 +(_) =100
78) () + 53 = 100
79) 21 +(_] =100
80) 19 +( ] =100

81) 76 +(_] =100
82) 1 +(_]=100
83) )+ 4 =100
84) 12 +(_] =100
85) 33 +(_J =100

86) 17 +(_J = 100
87) 83 +(_] =100
88) 50 +(_J =100
89) 61 +(_J =100
90) () + 37 = 100




